
      SAMPLE QUESTION PAPER MALAPPURAM CLUSTER MEETING/ 08-02-2023

BIOLOGY
PART A-BOTANY

   I.Answer any 3 questions from the following. Each question carries 1 marks

 1.Exine of the pollen grain is made up of.............
]cmK tcWp-¡-fpsS FIvssk³...........-sIm­v \nÀ½n-¨n-cn-¡p-¶p.

   2.Name the enzyme used to join the DNA fragments?
 UnF³F IjvW§sf Iq«n-tbm-Pn-¸n-¡p-¶-Xn\v D]-tbm-Kn-¡p¶ cmkm-án-bpsS t]cv?

   3.Fill up by using suitable terms based on the given pair
  ]Z-tPmSn _Ôw D]-tbm-Kn¨v hn«p-t]mb `mKw ]qcn-¸n-¡pI

     Cotton boll worm : Cry 1 Ac
      Corn borer            : ..............

     tIm«¬ t_mÄ thmw : ss{I 1 Fkn

  tIm¬ t_mdÀ        :......................

4. Name the interaction between sea anemone and clown fish?
     koA\n-tamWpw t¢m¬ ^njpw X½n-epÅ _Ô-¯nsâ t]cv?

  5.Choose the last step of process of decomposition is.............

   (Fragmentation,Mineralisation,Leaching,Catabolism,Humification)
 hnLS\ {]{In-b-bpsS Ah-km\ L«w Xnc-sª-Sp-¡pI

  ({^mKvsatâj³, an\-d-sse-tk-j³,-eo-¨nw-Kv,-Im-ä-t_m-fn-kw,-lyq-an-^n-t¡-j³)

     II.Answer any 9 questions from the following. Each question carries 2 marks.

   6.Match the column A with column B
    tImfw A bnep-Å-Xn\v A\p-tbm-Py-ambh tImfw BbnÂ \n¶pw Is­-¯pI

                      Column A    Column B

           i)Gel electrophoresis

             iv)pBR322

     a)Cloning vector

sPÂ Ce-Ivt{Sm-t^m-d-knkv

             ii)Polymerase Chain reaction b)Ethidium bromide
t]mfn-a-dkv sNbn³ dnbm-£³

 IvtfmWnwKv shIvSÀ

 FXnUnbw t{_mssaUv

c)Molecular diagnosis
     tamfn-Iyp-emÀ Ub-tám-knkv

iii)Restriction Endo Nuclease

 sdkv{Sn-£³ F³tUm \yqIvfn-bkv

d)Eco RI
CtIm BÀ1]n_n BÀ322



7.Melodegyne incognitia is a nematode parasite infects the roots of tobacco plants.
   Its infection can be prevented by biotechnological methods.
a)Name the strategy?
b)Explain the principle behind this strategy

8. ’Basmati’ rice is indginous to our country.But now it is under the control of USA.How it
     happened so?
      _kvaXn Acn \ap¡v Xt±-io-b-am-Wv.-]t£ Ct¸mÄ AXv bp.F-kv.F bpsS \nb-{ -́W¯n

    emWv.CXv F§s\ kw`-hn-¨p.

9.  Eco.R1 is an example of restriction enzyme.List out the criteria for naming a redtriction
     enzyme?
      CtIm BÀ1 dkv{Sn-£³ F³ssk-an\v DZm-l-c-W-am-Wv.dkv{Sn-£³ F³ssk-an\v t]cv

    \ÂIm³ kzoI-cn-¡p¶ am\-Z-WvU-§Ä GsXÃmw?

10. A plant breeder is interested in producing superior varieties of crops by artificial hybrisisation
    Write the events of artificial hybridisation in correct order
       Hcp kky ]cn-]m-e-I³ IrXra hÀ¤ kw¦-cWw hgn sa -̈s¸« C\w hnf-Isf DÂ¸m-Zn¸n

     ¡phm³ XnÂ]-cy-s¸-Sp-¶p. IrXra hÀ¤ kw¦-cW¯nsâ hnhn[ L«-§Ä {Ia-¯nÂ

     Fgp-Xp-I.

11.The innermost wall layer of microsporangium is tapetum
     a)What is it’s function?
     b)Write two features of tapetal cells.
     ssat{Im-kvs]mdm³Pn-b-¯nsâ Gähpw AIs¯ `n¯n-bmWv S]o-äw.

    a)AXnsâ [À½w F´v

    b)S]oäw tImi-§-fpsS GsX-¦nepw c­v {]tXy-I-X-IÄ Fgp-XpI

12.Identify the following inretactions
      a)Barnacles on whale
      b)Wasp on fig
      c)Abingdon tortoise and goat
      d)Ticks on dog

    Xmsg ]d-bp¶ ]c-kv]cm{i-bXzw Xncn-¨-dn-bpI

       a)_mÀ\¡vfpw Xnanw-K-ehpw

     b)IS-¶epw A¯n-a-chpw

     c)A_nw-KvS¬ Ba-Ifpw BSpw

       d)sNÅpw \mbbpw

 13.NPP=GPP-R
     a)What does NPP and GPP stands for
     b) Define secondary productivity

       NPP=GPP-R

      a)NPPbpw GPPbpw F´nsâ kqN-I-§-fmWv

      b)ZznXob Dev¸m-Z\ £aX \nÀh-Nn-¡pI

Ch-bpsS B{I-a-Ws¯ sNdp-¡m³ _tbm-sS-Ivt\m-fPn kmt¦-XnI hnZy D]-tbm-K-s¸-Sp-¯p¶p.

]p-I-bn-e-s¨-Sn-bpsS thcp-Isf B{I-an-¡p¶ Hcp ]cm-Z-amWv sae-tUm-ssK\n D³tIm-án-jy.

a)GXv hnZy-bmWv ChnsS D]-tbm-K-s¸-Sp-¯p-¶Xv

b)Chbv¡v ]n¶n-epÅ XXzw Fgp-XpI



 14) Detrivores play an important role in decomposition.
       a)What are detrivores?
       b)Write an example for a detrivore

        PoÀ®-\-̄ nÂ arXt`mPn-IÄ Hcp {][m\ ]¦v hln-¡p-¶p.

      a) arX t`mPn-IÄ F¶m-se v́

      b) arX t`mPn-IÄ¡v Hcp HZm-l-cWw Fgp-XpI

15)Ecological pyramids are very useful in ecological studies.However they have some limitations
     also.Write the limitations of ecological pyramid.
        ]cn-ØnXn ]T-\-¯n\v Ct¡m-f-Pn-¡Â ]nc-anUpIÄ hfsc D]-Im-c-{]-Z-am-Wv.

      Ct¡m-f-Pn-¡Â ]nc-anUpIfpsS ]cn-an-Xn-IÄ Fgp-Xp-I.

 16) Nt+1=Nt+ [(B+I)–(D+E)]. The equation of population density is given above.
      a)What does D and E stand for
      b)Write 2 factors which increase the population density

       Nt+1=Nt+ [(B+I)–(D+E)]. Pohn-IKW- km{µ-X-bpsS ka-hmIyw apI-fnÂ sImSp¯n-¡p¶p.

     a)D bpw Ebpw F´ns\ kqNn-¸n-¡p¶p

     b)PohnKW km{µ-X hÀ[n-¸n-¡p¶ 2 LS-I-§Ä Gh?

  II.Answer any 3 questions from the following. Each question carries 3 marks.

 17)Using genetically modified crops, farmers can minimize using use of insecticides and
       pesticides during cultivation?
       a)Give name of one such genetically modified pest resistant crop?
       b)Which gene is used for its production?
       c)Name the source of pest resistant gene?
       P\nXI amäw hcp-¯nb hnf-IÄ D]-tbm-Kn-¨m-Â IÀj-IÀ Irjn-sN-¿p¶ ka-b¯v

     IoS-\m-in-\n-I-fpsS D]-tbmKw ]c-am-h[n Ipd-bv¡m³ km[n-¡p-¶p.

      a) P\n-XI amäw hcp-¯nb IoS {]Xn-tcm[ tijn-bpÅ Hcp hnf-bpsS t]sc-gp-Xp-I?

      b) P\n-XI amäw hcp-¯nb hnf-bpsS DÂ¸m-Z-\-¯n\v D]-tbm-Kn¨ Po³ GXv?

      c) D]-tbm-Kn¨ Po\nsâ Dd-hnSw GXv?

18) In rDNA technology amplification of gene of interest is done by a technique called PCR.
        a)Expand PCR
        b)What are the main steps involved in PCR
         c)Name the DNA polymerase enzyme used in PCR
         kmt¦-XnI hnZy-bnÂ ]nkn-BÀ F¶ kmt¦-XnI hnZy D]-tbm-Kn-¨mWv

      Xmev]-cy-apÅ Po\nsâ hÀ[-\hv \S-¯p-¶-Xv.

      a)]nkn-B-dnsâ hnI-knX cq]w Fgp-XpI

       b)]nkn-B-dnÂ DÄs¸-«ncn-¡p¶ {][m\ L«-§Ä Gh

       c)]nkn-B-dnÂ D]-tbm-Kn-¡p¶ Un³F t]mfn-a-ssdkv F³ssk-ansâ t]sc-gp-XpI



 19)Three different flowers are given below.
        i)Maize
      ii)Vallisneria
        iii)Rose
 Mention any two adaptations of each flowers related with the agent of pollination
       3 hyXykvX Xcw ]q¡-fpsS t]cp-IÄ Xmsg sImSp¯n-cn-¡p-¶p.

      i) tNmfw

      ii) hmen-kvt\-dnb

     iii) tdmkv

 ]cmK-W-Im-cn-I-fpsS ASn-Øm-\-¯nÂ Hmtcm ]q¡-fp-sSbpw GsX-¦nepw c­v A\p-Iq-e-\-§Ä

 Fgp-Xp-I.

 20)The following graph shows two types of population growth curves.

 a) Name the growth curves
 b) What does ‘K’ and ‘r’ stand for

 

Xmsg sImSp¯n-cn-¡p¶ {Km^v c­v Pohn-KW hfÀ¨ hf-hp-Isf kqNn-¸n-¡p-¶p.

a)hfÀ¨m hf-hp-Isf t]sc-gp-XpI

b)‘K’Dw ‘r’ Dw F´ns\ kqNn-¸n-¡p-¶p.
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